Fe] 341 3, 5

0
SOl A4 7, - f,g

whebA] 247} ok A4 47 o] e.




2. TS F 452 e ALY

@D 4x5 @ 4+44+4+444
@ 5x5x5x%x5 @4x4x4x4x4
® 5x4

Adx4x4dx4dx4=45 o[t}




120 o 244 x sto] olm
%%x -04 %IO] %

b @ 22x3x5

@22x3><5

@ 2x3x5xT72

B 2x33%x5




L 2HGg5E$0]IBE1 R 472 £+
A T2 Ao = HE ot 2 A4 2o ?

® -2 @ -1 3)0 @1 ® 2

—2HTH5 T £ 30|22 AV UEYE £= 3014,
15t 4 22 = -30]82 B7} HEE 4+ -390t
A = A, BOllA 22 ARel Sle e A4S 085t

of 4, th=3 2t




5.

rlo
Py

£9

4e S

@ Adigto] 21 Ko7} ohe & 0] g2 0 Hr} Act,
@ x<0,y<0, x>y, x> oItk

@) 44N 9oz Hoju4% Aohizhe] AHr},
@ 0 °] Hoghe ZAj6HA] et

® 6 o ARG ZE 4L ZAY 5 At

~&B

®
=

A

=
<

A

o
j=
tu
i
u)
jlle}
19
ol
4
£
Jul

x>y 4o, o 7PHE5E Huiglo] #oBE x Wity 9
doigte] A
FA A AP o2 HE HolAE AL AT
@ 0 o] dHg2 0 shpsRol
® 6 o] ARt} 22 H4+= -6 o]tk




di 12 7} 2%

Sk 200 = U 8 9]
Zsfrhal gk, o]

oldl ZAALE 300 =
BE5H, 100 2 e 4 71 et A4 Foll Al

Vg 2 e otele

» E:
[> Heh: 104

_1:.
T

300+12 = 312, 200+8 = 208, 10044 = 104 <] Z|tfZoF

104 ©]tt.




7. FAA%a, b 9 HHFEE 24 o) a, b, 32 O] FAFE BF
ook,

\4
n

it

i

0
AL
o

02
L
S

v V.V vV.v Vv Y
0x
i

0
o
oS

a, b O FHTE 249 FF0|BR 1, 2, 3, 4, 6, 8, 12, 24
329 k1, 2, 4, 8, 16, 32
w2hA g, b, 32 & FFFE 1, 2, 4, 8 °Jth




